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' The length of a rectangular garden is 4 meters more
than its width. The area of the rectangle is 60
meters. Find the dimensions of the rectangle.
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in various decades.

Years since E :::'c at
196“ xpeBirI:h Y
[a4p10 62.9
20 68.2
30 69.7
40 70.8
50 73.7
60 75.4
70 77.0 N
80 78.7 J

31 The table below shows the U.S. average life expectancy at birth, in years,

<
T8

What is the meaning of the slope of the linear best-fit equation for the data?
A The predicted average life expectancy at birth in 1930 was about 62.7 years.
B The predicted average life expectancy at birth in 1930 was about 57.6 years.
C The average life expectancy at birth increases by about 6.7 each year.

@ The average life expectancy at birth increases by about 0.2 each year.
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32 The choices below are data sets. In the choices, w is a constant. Each choice has
the same mean. Which choice has the greatest standard deviation?

—_—

A w-2,w-1w w+1l, w+ 2

B w-2,w-2,ww+2, w+2

@ w-3, w-1,w w+1l, w+3

D w-3,w,w,w,w+3

33 Abby scored 87, 93, 96, and 89 on her first four historygees . t score does
Abby need to get on her fifth quiz to have an average of exactly 91 qn her history

gs‘za%gt(x%ﬂ X -9

D 100
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34  The perimeter of the triangle below is 8x - 6.
T—

Q

7 = o
P ~gr 6

3x =

Which expression represents the length of QR? - u
4
A 4x - 4
—
ﬂ 4x -6
C 6x - 4

D bx - 8

()

35 What are the solutions to the equation -'&2\— 52x + 169 = 1217

L ?g —I}\ {21
B {¥12)
C {)a‘_lz} 4x2*52x3697121 10

@ {1, 12} =

(1,0) (12.‘0)
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15. If the zeros of a function are x = 2 and x = 7, what was the function?

% (- 1)&"'

£ = xF-ax 14
16. Based on the graph below, which of the following functions could have produced the graph?
9 &

/K)/f(x)—(x+2)(x+6) x:-2 %o

() =@-2(x+6) xx1x=-
_ (x)— (24 (Fi:-l o

DY f(x) = (I (¢ x

17. A government é at zﬂglla.rs.each,jnd 3y tons of wheat at w dollars each It spends atotal,
of B dollars, wherg B = xz + yw. | (a)-(c), write”an equation whose solution is the given quantity.
a) The nimber of ton overnment can afford to buy if it spends a total of $100 million, wheat

costs $300.per ton, and it must bu gSf‘g ter planes at$15 million each.
00,000,000 5(1% 300
@ 100,000,000 -J&;oﬁm 300> ¢

The price of fighter planes if the government ‘bought 3 of them, in addition to 10,000 tons of wheat at $500

a ton, for a total of $50 million. : —_—
20,000,000 = 37_}40@«:2 %0) .
(__50100 !CKJD &2 "?_4_9(29: e : oY

¢) The price of a ton of wheat, given that a f‘ghter plane costs 100, OOOtlmes as much as a ton of wheat, and
that the government bought 20 fighter planes and 15,000 tons of wheat for a total cost of $90 million.
(hitps:{/www.illustrativemathematics.org/content-

C{o,ooo 000 = 2.0(100,000 W)+ 13,000w R
000, m@,,,q.,oaemou,r A5 o0OW S e

19 A bnll #hwnd %gq}r(%wf@o .,‘24 v nfan Eidamn viann a dlabaann A Fmnk tin b mmnmiandn mhiane bas A

(LY ALY
18. A ball thro%vrrvé‘m?:a fs upwara atan mltla\ﬁlelllty of v, ftjsec rises a dlstanc_g_feet in t seconds, given by d =
6 + vyt — 16t%. Write an equation whose solution is: -

BT The time it takes a ball th rowa at a speed of 88‘1‘1/5&&: to rise Zocteet.
20 = lo+ ‘6%’( - \lo -

b) The speed Wlth whic qthe baII must be thrown to rise 20.3‘.5.}31 in co S, ’ i
% b4 \é‘ {https://www.illustrativemathematics.org/content-standards/HSA/CED/A/2/tasks/437)
N :
19. Mary an

leff both have jobs at a baseball park selling bags of peanuts. They get paid $12 per game and $1.75 for
each bag of peanuts they sell. Create_ equations, that when solved, would answer the following questions:

a) How many bags of eanuts does Jeff need to sell to earn $54?

H=\L A

b) How much will Mary earn if sie sells 70 bags of peanuts at a game?
g= 12+18(70
c) How many bags of peanuts does Jeff need to sell to earn at least $68?

12+ 1,115h 268

20. Phil purchases a used truck for $11,500. The value of the truck is expected to decrease by 20% each year. When
will the truck first be worth less ({tlan $1, 0007
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Homework: Complete pg.4

21. Suppose a friend tells you she paid a total of $16,368 for a car, and you'd like to know the car"s list price {the
price before taxes) so that you can compare prices at various dealers. Find the list price of the car if your friend
bought the car in: 1p368 = 1 0bb*
a) Arizona, where the sales tax is 6.6%. § w
) 15,355

b) New York, where the sales tax is 8.%59%.‘59 2, OR25% “

19,121 =%
c) Astate wjgerg the sales taxis .
,\.‘9_3_.-—— - P {https://www.illystrativemathematics.org/content-standards/HSA/CED/A/1/tasks/582)
VAT o363 ° P(lrr )
7, 22. Stephen wants to create a landscaping feature in the’shape of a parallelogram in his yard. Stephen has 200....

of the parallelogram to be 3 more than twice the width, measured in feet. If Ste {:hen intends to cover the enti(re ,
Y
landscape feature in muich, wha&-can—t-hewidth‘of‘thmra'llﬁﬁg‘ram-be‘?‘“‘, wrbe an tquation to show‘ it geen

T éﬁ‘“ﬁ:}wﬁ7

2w'f3 L d—\‘-'f )

. 4
23. The larger leg of a right triangle is 3 cm longer than its smaller leg. The hypotenuse is 6 cm longer than the
smaller leg. How many centimeters long is the smaller leg? -

2y (g2 3)* 7 (xr@)? N
x| NP zfu_( tcplrmx"'--w-\‘.i*"’%
. e
r3 -1
)ka“'ﬁ’"‘ x-rg -

24, The floor of a rectangulg?c;g:' has a length 4 feet greater than its width, w. James will increase both dimensions
of the floor by 2 feet. Which.equation represents the new area, N, of the floor of the cage?
B
Wrrd WK ar_t_\l'




4-27 Calculator Active Part 4.notebook April 27, 2023

~-25. The FFA had a fundraiser Ey Seiﬁ;ﬁ?ﬁbt dogs for $1:50 and drinks for $2.00. Their total sales were $400. -~ -~~~

.a) Write an equation to calculate the total of $400 hased on the hot dog and drink sales.
150 % + '2‘._,5 =400 % ot t’j R '

. ¥ dnn :
b) Graph the reIationshiP between hot dog sales and drink sales.'g
. RS T e -
P ' ! R = -Z;_o 2 0@\ i
] . b - a
¢ o 3 !-l%‘ ; # HelBoyg

26. Ina woman's professional tennis tournament, the money a player wins depends an her finishing place in the
standings. The first-place finisher wins half of $1,500,000 in total prize money. The second-place finisher wins half
of what is left; then the third-place finisher wins half of that, and so on:

a) Write a rule to calculate the actual prize r%oney indo

or lars won by the player finishing in nth place, for any
positive integer n. | 500,000 (.5 n

b) Graph the relationship between the first 10 finishers and the prize money in dollars.
What pattern is indicated in the graph? What type of relationship exists between t

he two variables?
i E Eﬂ)o‘\cni‘\ a\ C\EU.L\I -
AGee,
27. Aclub is selling hags and jackets as a fundraiser. Their budgg}g is 5\150[)_ and they want to order at least 250 items.
They must buy at least as many hats as they buy jackets. Each hat costs $5 and each jacket costs $8.

. ra
a) Write a system of inequalities to represent the situation, 2%+ 8)‘ 1500 «x.2 5
X'fky 225()_'50*8(1}&\600 MO
____H_,% ,Q/Ifthe club buys 150 hats and 100 jackets, will the conditions be satisfied? |50 & \§0D




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

